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Part —-A

1) a) Unit labour requirement and wages for
table below:

Spain and United Kingdom are described in the

— ““j_\ifage
| Comtey | gt

| Spain | €2/hr
{ Linite -

{ United | £3.2/hr

|
| Kingdom

Unit labour Requirement (in hr.)

) If the exchange rate is £0.8/€1, find out the pattern of specialisation for both the countries.

i) Show the determination of the relati
labour and the relative wage rate as th

.

Wine Cutlery | Cloth | Hardware | Wheat Cheese 4'
4 12 6 115 5 7 ]
3 |4 5 6 2.8 | 3
| . |

e variables for respective axis.

(4)

ve wages with a diagram using relative quantity of

(4)

iii) If the wage rate of United Kingdom increases to £4.2/hr, given the same exchange rate as

before, how does the pattern of specialisation change for both the countries? (4)
b) Write a short note on “Gravity Model’. 3)
z.a}maaﬁtq\mgég%ené?ﬁvsﬁrémﬁmamamm@ﬁa
7% Tifder # aftig &
. }Haqfraw SIS A BT FRIH (vt )
‘ Wine Cutlery | Cloth Hardware | Wheat Cheese
T b |4 12 6 15 5 7
| TAGCS | -
| % T£32/mr | 3 4 5 6 2.8 3

i ofe RAfesT a3 £0.8/€1 B, aralat gof & v Rdwswar & w&@w9 Y 719 #t
i) T HR@ H M HT FIYET AET TYT WOET Hogdr X @ WY F ®T A wAer

FF WOET Holgdl & fAUROT FT &

0% TG e A Al R TR e ad LA & W

Aferg 57 W, g ¢uf & v Rdvaar & @ & R yor wReds g b

b) @fadr Hizer w¥ v @ared fequof ford|

2. a) Consider country A that produces computers (C) and food () using capital (K) and
lubour (L). Both industries are perfectly competitive. Unit factor requirements arc fixed and

(9)



non substitutable. The technique of the production is given by: axc =3 and agr =
1, aic=2and a;p = 4.

¢ 1s the number of units of factor i required to produce a unit of good j.

i) Which industry is capital intensive? Suppose that it has an aggregate endowment of 100
units of capital and 100 workers. How many computers and units of food will the economy
produce? Explain with diagram.

ii) Given the same technique of production for both the goods, country B now opens up for
free trade with country A when country B possesses the aggregate endowment of 100 units of
capital and 150 workers. Explain the direction of trade between country A and country B.

(6+4)

b) Export led growth in poorer nations would actually be self-defeating ------ -- Comment. (5)

2.a) I G AA A Yot (K) T A7 (L) FT AT I FREI(C) T AT (F)
FT U FIAT Tl AW 3T qui: wfaaneht &1 s s Y sravgwar R
T IR GFEATIAT § | SeuE T dwE 59 TER A R &

by:axe =3 and agr = 1; a0 = 2and ayy = 4.

i GEIj HT FHS 3cURA & AT | WU $T IHS A A ATEr R

) Wi B SEHRT IS FE &2 A NI B 38d urw Ot 100 g e
ﬂwaﬁ?wommmmammﬁmmw
3TAIEA PN 2 ARG F 1T THSATU|

i) St aFgITt & T Iedee A FAR Tl B AT gU, A9 B 2w A & @y
HFT SR FA AT FAr § T 4 B F 9w G A 100 zwE @
M= @ 150 ghre §1 a2 A 3R 2 B & @t samar fir Rer fr sarear w3

b) ol gt A AT geflr cA-wRIe arel g, oo Y

3) a) i) Suppose a country wants to protect its ‘Infant Industries’ through trade protection
measurements. Lvaluate import tariff and import quota for the same level of imports as

protection measurement. (8)
i) An interesting suggestion came through in the process of evaluation: “Instead of protecting
F 1, rp £s my vna 'n.f\A Vtivia e WYy ":': it S ST & | ]l' l"' 1 1.' 'V Oneo LYY | .‘l * TV '\1“ -‘1'r~:'~ ~1

I NALSIRS rom .:'-'."'u'i.u' i LA UL, S ) e L) LHVULL AR T UL if P Uuction ol

import competing goods through production subsidy™. Do you agree with the suggestion?

Ly (3)



b) Write a short note on ‘Intertemporal Trade’, 4)

.a)a)imn—“rﬁ‘rﬁw%w&?rm*fm;mﬁwgimmimm@
YT HIA WA § G AW F T F AT F GAS TR F S T
3R 3T HICT H TedicheT i

ii';ﬁgvmﬁwﬁmﬁwmwm; "fagel gfaeaer & seet v wn
T F T, T A F U FRES F AR H wforad et &
I HI WICHIGT R F1 et AT AR | 1 HT 39 G F T 7
b) STXEFURE R u¥ Tfdreq feguol fard

4) a) Bangladesh produces shoes at a lower cost as compared to the world market leader,
Cambodia in shoe production. Despite being the low-cost producer, Bangladesh is unable to
compete in the international shoe market when free trade takes place. In fact, Bangladesh
does not even gain from foreign trade. Explain the above anomaly of the trade pattern with

()

the help of forward falling supply curve.

b) Suppose, monopolistically competitive firms, facing same demand curve for their product,
having different fixed levels of marginal costs, have the same but non-recoverable fixed
costs. Establish the relationship between the marginal cost and operating profit. Show how

does increased market size generates both winners and looser among firms in the industry.
= ~
(3+5=8)

ma}mﬁﬁrﬁw_mﬁamvﬁ,mmﬁqmﬁamaﬁﬂawsﬁﬂ
3CUIGA FRAT &1 HeFd AOR HT AT & F37 a0 9 seaes @ F s,
FEAEYr HARTSET SA9R IR H gfderst ava & 3ged &1 arcag &, givander

el caaR & o AE §1 I A AR R O I @ A wgREr ¥ o
FaRT & IR fagafa @@

b) A AT, e gfaerdt wH, G 3oae & v s § o
fffesr Reux doia oFTd & T &, FAM 9ed 39 arell fRR amre §1 @i
TR YT gRETee i & i gey T WY Rwe fF aeR & wmew &

Farerdy Zeaier & fastar gur wifsrd gAl JER B e Seue aRel B

1) A country produces two crops Barley and Maize which are produced by labourers and
sume other factor which is specific to the 1'espect<u§ production of Barley and Maize. Given




the price of barley (Pp) and maize(F,,), the relationship of labour allocation is shown &
MPL,P, = MPLy, P, where MPLy and MPLpare marginal products of labour for the two
crops. If Maize’s price increases by 5% with no change in Barley’s prices, what will happer
(0 the labour demand for Maize production, and the market wage rate? What will be the

welfare status of labourers? Explain with logic. (7)

b) “Desirability of Custom Union depends on whether it mainly leads to trade creation or

Y 2
o)

trade diversions” ===------- Comment.

5. 2) T 2 & GHAT S FUT AEFH H 3cUGA A ¢ S T s qu Fo
¥ FRE S S AR mee & @Eftd 3cues F fov fRftee & oz
seaTied @ €1 St ((Pb) T A (Pm) B & §E FACT W, HF Hiaed w1 HaY
MPLyP, = MPL,,P,, % &9 & fe@mr a1 &1 MPL, @01 MPL, &l G&al & #H &
AT 3ere &1 AR HaFHw fr FAq 7 5% H gy awr it & Fwg Rafaa
B, A HERT 3TUTee & o A AT 1 @ gl a9 SR # Aoy &Y F F
g siffet i Fwearr Ryl Far enfn aF & gy gFsnsd|

b) FECH HY HI ST 3H a0 W R A § & @ g87 §7 F FOR
AT I SR As, e 3T o Frdr g e fecaoft #Y |

Part- B

6. a) Assume that an economy is currently at full - employment. The government of the
economy has undertaken an expansionary fiscal policy of a permanent nature. Explain the

same with the help of a DD-AA diagram, clearly bringing out the rationale behind the impact
of this expansionary fiscal policy on output and exchange rate in the perfectly flexible

exchange rate and perfectly mobile capital environment.
(9

b) The Japanese yen (¥) gives 20% interest rate against 10% interest rate of dollar (%)
deposits and the expected rate of depreciation of the yen s 10%. What will happen 10 the S
the foreign exchange market? By what rate yen deposit need to depreciate to bring in the
equilibrium in the foreign exchange market? ()

boa) T F F UH NUeHIEAT THAE A OISR F TR W F| WET
yemErr # vH TR YA A TR A gE A gl DD-AA dRE #
TR B 7E TS ¢ aun qiaar s ffany @ aw gl wfade oo
JrarT F add g ReaRa s A H1 FA ScUEA T g are wsret
F aFt B s F |

ey

(5)



b) ST AA(¥) 20% A X AT & STE SR (S) ST 10% s &%, Fur A
1 ywead $ I & 10% 81 RS g aeR & SR # w=y aem R
mmﬁ@@mﬁmﬁﬁﬁvﬁﬂmmma@mmwf
7. a) Show that with imperfect asset substitutability, the central bank can use sterilized

intervention to hold the exchange rate fixed as it carries out the expansionary monetary policv
10 achieve domestic objectives such as full employment. (8)

b) How was inflation got imported from abroad (US) to other countries under the Rretton
Wood fixed exchange rate system which was characterized by lopsided macroeconomic

-

power vested on United States? (7)

7.2) g2 foF 3rqot afgufa wfavuars & T, & 8% iferg 3« W @
& fov fAster gEaslT & YART FX HHEAT § FAIE T QU7 ASAIR HE CERE
FEERTT & UTT W & v Frala #igs Afg &1 a7 wwar &

b) et g8 R Ry X &, Gwdr Rvar dgad vsw 3fe § PR
Wﬁmaﬁﬁﬁ,%m&%ﬁﬁﬂaﬁ%%&ar(wﬁamw
S A

8. a) The severity and breadth of the 2007-09 crisis have led to initiatives 1o reform both

national financial systems and the international system. Describe some of these measures,
which have sought to fill gaps in existing regulatory frameworks while also paying more

attention to the macroeconomic causes and consequences of banking problems. (7
b) What is financial trilemma? 3
¢) How does market determined exchange rate acts as an automatic stabilizer? (5
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Q1. Explain the Harris-Todaro model of rural-urban mi 1gration, and discuss any one

policy that brings about full employment in the economy as well as eliminates the urban
informal sector. (15)

Q1. gLl yarga & gRE-AEEr A H Tem, 3R U ogr A 93
T Y S Hfeyaer F qul QSR AT ¥ AR @y & @y gl swituanie
AT B AT AT T : (15)

)



< uss why, despite government ¢fforts. birth rates have tended 10 remain high in
Q2. Discuss WY, <

underdeveloped and developing economies. -

g W FER @ & wEdE, HoERd AR R
st & ft FROT § S I %l (15;

| how interlinked credit contracts are a marriage of convenience in ryrg|

(15)

markets. .
Qs,WWWMﬁ@-WW'Wm#WEﬁW
' Lis (15)

Q3. Explair

(4. Sharecropping is an economically inferior contractual system to fixed rent system,

Yet it emerges as a way to share not just output of productive activity but the risk

associated with it as well. Elaborate the above statements. (15)

Q4. WRF @ ¥ aeert PRud fRmET gomel & g H O I
SRR GO ¥ R o UF 3ceE AR & 3cues & A afew 3ak
m@maﬁaﬂwmﬁmﬁmmﬁlmmﬁﬁ

e | _ (15)

Q5. a) In each of the given cases, the money may be lent in the formal market, at 10%
rate of interest with no fear of losing any money. Calculate the minimum rate of interest

at which g lender will lend Rs. 1,000 on the informal market:

1) With probability 1/2 the loan will be repaid with interest, and with probability 1/2

that only the principal will be repaid.

i1) With probability 1/3, the loan will be repaid with interest, with probability 1/3

only the principal will be repaid, and with probability 1/3 the loan will not be
repaid at all. (3.3)

b) Cas ¢ r - 111
) Casual labour markets create externalities that everybody ends up paying for:

employees thr it
ployses through bad nutritional status and employers through hiring of inefficient

labour. Explain,
@ ®)



G5.3{)#|ET%‘E’?TC"H¢€I¢ ATHA] ﬁ,uﬁmmmﬁ1000mm
amﬁmmﬁ,mﬁﬁmmﬁwéﬁaﬁﬁamﬁﬁmm
10% &9 &X &, @6 FATOIRE TR F @ F wgeanm ax o
FHifaT: |
)mwamm#mum—am%m&rwmmymm;mg
f& sad FeIUsT THET ST
(uaﬁwma%mmmﬁraﬁammmmwm%m
& 7 gH A FAEAT wAC: 1/3, 1/3 vd 173 § o (33)
)Wmmﬁmmﬁmﬁmm%ﬁ?@mﬁw
%mm%mmwm%%é?mwﬁmlﬁﬂﬁmmw
mﬁﬁ#mm@%wﬁ[%wl , 638 o (9)

Q6. Discuss the role of inclusive investment and productive base in understanding the

sustamability of economic development. What does the empiriéal evidence say in this

rugardq' : TAD R METRIE &
Qs. mmﬁﬁmﬁmﬁﬂmﬁﬁm?mwm
%aﬁwwwm;ﬁmw&wwmﬂwmm.g (15)

Q7. Discuss the roots of the U.S. ﬁnancial. crisis in mid-2007. Also diScués the broad
policy recorrimendaﬁ on to fix the serious ﬂaws in the economy in order 'Lo avoid potential
future grises. o o (19)
Q7. 20073:3:@:3#3{3#%%?1‘13%3%3@%@%&1 wr%a:m‘am
#wéaﬁ%fﬁvﬁamﬁwﬁraﬁﬂaﬁgwﬁ%fmﬁm

Afer AR ox s ==t &1 £ (15)
8. Discuss the effects of globalization 6n th§ poor in developing economies. (@83
Q8 Tawraeier srfeaeurat & arliel o spEsEEOr & garel ox Tt S (15)
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Attempt FIVE questions in all,

Selecting at least one question from each section.

Use of scientific calculator is allowed.

Fel I Yo F IR QY |
Tl WUS H  HA-U-FH UH U ST &
daTfee HerFerel F AT AR ¥ |

SECTION A

1. (a) Consider a portfalio consisting of n assets all having a rate of return with mean K, variance
o?and covariance 6o?2. Show that portfolio variance cannot be reduced below 0a? no matter

how large n is made. Elucidate with a diagram. (7)
{b} You can only invest in two securities: ABC and XYZ. The correlation between the returns of

ABCand XYZ is 0.2. Expected returns and standard deviations are as follows:

_S_e_c;_thy - E_Exp: Return YY) Dev +
| ABC 20% |

|ABC_ |2 120
@




—

P~
o
P

What is the expected return and standard deviation of a portfolio that invests 60% in ABC and
40% in XYZ? (3)

(c) Show that for a present value P of a perpetuity that pays an amount A every period
beginning one period from the present is given by A/r where r is the one period interest rate,

(5)

(37) T GIEHITRT W AR wt forws @ 0 oRE9d ¥ AR Sad g
qﬁﬁq%mvp,wczmmwwﬁswaqﬁwwam%lm
R gICTRIferaT SRYT 002 & A FoT AE AT O GwaT ¥ A n Reaer o CE|
ST ST | U AF & {Y FRWoT & |

(&) 39 Saer gy gisfaat F Fw = @wd § : ABC d2m XYZ| ABC @97 XYZ &
W%WWUO.zﬁlmﬁaqﬁmwmﬁmﬁmﬁ

:__Security *Exp. Return Std. [3@_\_/
ABC 20% 20% ]
XYZ » 15% 25%

Th GICHITrT & g wfawel qur sarg fmes Far & 5t ABC # 60% @
XYZ # 40% Toaer sy 2 |

@) RErr & v warRica(perpetuity)® adamT g & R &t adewe § o e

émmmﬁmAmwm%mmmmmHﬁ
T e ST & ¢ |

2.(a) Find the price of a 10% Government coupon bond that pays annual coupons, matures in
exactly 2 years, and has a face value of $1,000. The yield to maturity is 4.09% p.a. compounded
annually. The bond has just paid its annual coupon, hence you need to price it assuming that
the first coupon that you will receive is due in exactly one year. (5)



(b) Elaborate the relation between price, vield, coupon and time to maturity for a bond.

(7)

(c) Explain the market segmentation hypothesis for term structure of interest rate.

(3)

(31) 10% THR %qﬂﬁrsa‘@ﬂﬁmﬁmmﬁmwﬁmmg,w
wﬁzﬁ#qﬁmma*awmmoﬁrg@a{mm%mﬁmﬁm
4.09%qﬁaﬁwﬂaﬁmﬁ$§|a‘#§#maﬁmwmgﬁw%mﬁ
m:mwmgﬁﬁ?ﬁéﬁmﬁm?%wwa?mmm
aEdd A UF a¥ F g7 ¥ |

(a)wﬁﬁa:%vmﬁ,m,wamqﬁvw%ma:aﬁamﬁ%ﬁﬁa
|

(‘H)mmﬁmmkﬁvwwmmwﬁﬁmaﬁi

3. (a). The spot rate curve usually slopes upward as maturity increases. Provide reasons for this
kind of shape. (5)

(b). What is the difference between CML and SML? Derive the CAPM equation. (3+7)
e

(3) FUIC EX O F oo TAFTT: UATHS BIaT § ST9 TRUFadl sgat 2] 39 YK
% HHR & T HROT gAY |

(&) CML va SML & & a7 37a7 &7 CAPM HHISRIOT &7 faiRor ¥ |

SECTION B

4.(a). What is cross hedging? Explain the circumstances when hedging can lead to a worse
Outcome? (3+3)

(b) What is intrinsic value and time value of an option? (4)

(c). A four month European call option on a dividend paying stock is currently selling for 5. The

el ot : . .y QN i ‘ted in . he risk free
1otk price is 64, the strike price is 60 and dividend of 0.80is expected in 1 month. The risk frec

<



interest rate is 12% per annum for all maturities. What opportunities are there for an
arbitrageur? (5)

(37) HIF efSia(hedging) #ar §7 uRTFEUfAIAY & auia &Y sTa &f30T @Wwe gRums @
I HAr & ]
(¥) T Fheq i @ qoa TuT TSRS (ntrinsic) qeT &4 § 2

() T AR HIA FeF W TH TR AGAT RIS el e aaame 7 5 &
fov a7 w1 § | TR P 64, e $1ET 60, gUT 1 AER A 0.80 F e
FFAAS & | Gl aRosFaar & e sifew Ra sarer a3 12% #
3RfagsR(arbitrageur) & AT a7 3wy 7

5.(a) On January 30, you are managing a bond portfolio worth $6 million. The duration of the
portfolio in 6 months will be 8.2 years. The September Treasury bond futures price is currently
108-15, and the cheapest-to-deliver bond will have a duration of 7.6 years in September. How
should you hedge against changes in interest rates over the next 6 months? (5)

(b) What is meant by ‘Cheapest to deliver’ bond? (3)

(c) Suppose that the Treasury bond futures price is 101-12. Which of the following four bonds is
-
cheapest to deliver?(7)

Bond | Price |] Conversion factor

1 125-05 1.2131 [
2 142-15 1.3792 |
3 115-31 1.1149 |
4 144-02 1.4026 j

(31) 30 STeal S HT TF dles Gt ST Haa $6 BT & &7 yay &%
® | 6 Higel A WCHITAGT i 3rafer 8.2 af g | Ridex ¢ord afes sy Foa
I A 108-15 § a1 TFaT ¥ UG dles RAaw & 7.6 a¥ &1 3@y g@eh | e

()



saﬁﬁaqawmaﬁﬁwﬁaéaa:ﬁmmﬁm

(hedge) &
IfeT |
() |E q ﬁ’ﬂ:& (Cheapest to deliver) §f==g ¥ 3T T 7 Y ¥

m)mm%maﬁ’?gﬂﬁwﬁmmmmmﬁmﬁmmmﬁgm
g o '{ﬁ? (Cheapest to deliver) & |

T}soﬂd Price Conversion factor
1 125-05 1.2131

2 142-15 1.3792

3 115-31 [ 1.1149

4 144-02 1.4026

6. Suppose that the standard deviation of monthly changes in the price of commadity A is 0.3.
The standard deviation of monthly changes in the price of a futures contract on commodity B

(which is similar to commodity A) is 0.2. The correlation between the futures price and the
commodity price is 0.9.

(a) What hedge ratio should be used when hedging a one month exposure on the price of
commodity A7 (3)

{b) Suppose you are a producer'of commodity A and expect to produce 1 million units of this
commodity in one month. Each futures contract represents 42,000 units of commodity B. What
strategy will you opt in order to hedge the risk? How does your answer change if the correlation
between future price and the commodity price becomes perfect positive? (8)

(c)Explain the relevance of ‘tailing the hedge’ adjustment while hedging an exposure. (4)

T B avg A & e H A aRade F GA RFeest 0.3 8] avg B W siasy
Her ¥ frEe & 9w TR W OTHT @Ues (S aw g A ¥ arEre §) 0.2 ¥

W@WHWWW%WWOB?I

(%) T ¥i(hedge) T SUAT R ST AT S FEG A @ AT W T

e & A F 2(hedging) @ T |
| (%)
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5@%%%%“&?%!%%@%@8%42000
@m@ﬁmﬁ;mémmmﬁmwmw;
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tATCHE BlaT &
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39y
o1

(®) <forer & &7 (tailing the hedge) % TERTear 7 Rdws T T =y

HATIROT BT &

SECTION C

7. (a) Explain the different ways in which a firm can repurchase a stock, (6)

(b). Consider a company with the following market value balance sheet:

Asset Value

5000

Debt

[ 1500

Equity

3500

The return on debt and equity is 10% and 18% respectively.

(i). What is the overall cost of capital?

-

({i). If the firm issues an additional 500 of debt and uses the cash to repurchase 500 of its
equity, would the overall cost of capital cha nge? If the expected return on debt rises to 12%,

what would be the return on equity?

(iii). If the company decides to repay all its debt and replace it with equity, how will this alter

the return on equ

(3+4+2)

ity?

(H)%@mmmﬁawaﬁmﬁwmww‘@wga:mmmﬁl

(a)%nﬁmamwgmwa:muwmwfamﬁl

——

| Asset Value

H
i e

5000

e e



HOT FAT FIFAT B GfABT T 10% FoUr 189 el

(i) & FT FF AAHT AT F{y ¥ 2

8. (a) Financial leverage does not affect the risk or the expected return on the firm’s assets, but
it does push up the risk of the common stock. Elaborate numerically using the concept of betas.

(8)

(b) Under traditionalist view, the weighted average cost of capital does obtain a minimum for
an intermediate level of debt-equity ratio. Discuss the arguments in favour of this statement.

(7)

(37)- faei satsi(leverage) M%Wﬂﬁwwﬁﬁﬁmmmaﬁ
Wﬁaaﬁmﬁﬁm%mﬂmﬁmﬁmﬁ%mﬁw
mem'gvﬂﬁ#mwﬁwm%ﬁl

(@) IR fraRuRT ¥ siasia o & sfa aiwa amm HOT-HHRST eI &
AAfA® ¥R & 0 Fuaaw7 g AT & | 50 FU9 & 9T F aF 1 @Ad9T Y |
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Instructions for Candidates

. Write your Roll No. on the top immediately on 1eceipt of this question paper.

2. Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.

3. Question no. 1 is compulsory. Attempt any two questions from Section A and any two
Questions from Section B. ’

oE @ fog ey

. 39 A @ e @ R Ry 9 PuiRe e w s srgie R
2 gﬁuﬁ—ﬁraﬂwaﬁaﬁm%ﬁwwﬁw,?@ﬁwﬁﬁﬁwwwﬁmaﬁﬁq:

3. TS BAG 0P JNIR B | TS o § BIE § U 9 ©U% § § F B o 55 oY)

1.Answer any Three : 5X3
"1} Distinguish between Giffen and inferior goods.

'ii) Distinguish between nominal and real Gross Domestic Product.

(iit) What is the price elasticity of Demand.

-1v) What are features of Perfect Competition?

1. f=8) @ 9T T SO G § e v
(i)ﬁﬁ%amﬁﬁrﬁ%ﬁa@ﬁﬁ%ﬁf

i) w7 Tfe Tod o WK (60|

i) 7 & P da TR
(v) oot wferarfivar &7 RLwart & |

Section A



_ . of scarcity and choice with the help of Production e
2. (a) Explain the problems of scarcity an 1 Possibiliyy

Cuarve. o s =
(b) Explain Law of variable proportion.
(8,7)

2. (eq)g‘bﬁmawaaﬂ?;%wwaﬂwmﬁmwaﬁwﬁmhaﬁl
(@) oRacdeiiar sFgumatl @ fFraw @ arer aY |

3(a) Explain derivation of demand curve for a normal good with the help of indifference
curve.
(b) Explain determinants of demand.
(8,7)

3. (&) T W g B Ry S @ e B SR § w9 ar R
Cad -
(@) 7 @ NuiRe qar ) e o |

4. What is monopoly? How is the equilibrium of firm determined under monopoly?

(15)
4-@%&%%?W®amzﬁaﬁawwéwvwﬁmmﬁaﬁa@m%‘?

Section B
5. (a) Explafn income method for estimation of National Income.
(b) gf @) Marginal Propensity to Consume= 0.8
(i) Marginal Propersity to save = 0.5
_ What is u%.a value of multiplier? | |
5 A e B, oot e ' I (10,5
B (m)fwr@qud%mfa%m%%rqf&ﬁﬁaﬁﬁwh : ' :
@) afs
(i) I ST gty = 0.8
(i) AT =T WY = 05
OIS BT A AT B

0. (a) How does fiscal policy help in bringing an economy out of recession? Explain.
(b) What are the function of money.

6. (31) TN Y sroferaver B Y W 5T THR Tex Rrmred &7 wHeEd |

(10.5)
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7 Write short notes on any two
{a) Macroeconomics issues
(b) Terms of Trade
(¢) Circular Flow of income in 3 two sector model
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(a) Write your Roll No. on the top immediately
on receipt of this question paper.
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(b) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.
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(c) Answer any five questions.
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Provide an overview of the i

devc:lopments in the Indian I;Ica:ggnf; ?‘?c?mm P
medium term Perspective and review the proble 5
areas that need policy attention. -
TR Sreleereeyy & weny ey AR H s anfs
= =1 o T Raeer SRRy o oy T Ay a5
aﬁrmzﬁﬁﬁﬁﬁwﬁﬁwm%ﬁa&mw% ?

Bhagwati and Panagaria are of the opinion that
if the labour reforms are implemented they
would accelerate the growth in formal sector
employment. Do you agree ? Give reasons in
support of your answer. Briefly state what other
benefits, if any, do you see from the
implementation of labour reforms ?

TITEAT ST I9ARAT = |Hi=ET ® 75 af s g

BY e Gt & Shaenfes S5 5 Qe 3 3 ot mer

Y 8T & ? 3199 SmX & gaq 7 q AR
Y F Sard 3 ar HH gl @ mEieaT o A
T &9, e I &I, TR s & ?

How far do you think indirect reforms such as
exchange rate reforms and lowering of industrial
tariffs impacted Agriculture growth ? List som_(}
of the challenges that need to be met 1
agriculture is to be taken forward ? T
SATqeRY TR @ © b fhe gw_aw fafa <X
ad sfEnfie_2Rw ﬁwaﬂﬁéﬁe{ma?ﬁ%m;
fyepr =1 ST far @ Al B & g
%qu fbeT-FpT AT BT AT YT = AL

2

4.

8714

«Greater integration of domestic industries with GPN
(Global Production Networks.) _rm-lst form an essential
part of the Make in India initiative.” Discuss.
usfrdye (TS SIS <dh) & ATey 5 e 3
SRR THIh 0T <l Heh § ST I8t T Uep 1o
fedT ST B1T 7 SATEAT HifsTy |

Do you agree with the view that there is much
less scope for India to make major gains in low-
skill or low-tech products because it is likely to
face an incumbency disadvantage relative to
China and other low-cost producers in Asia ?
Give reasons in support of your answer.

T ST U T O T8H7 & 6 Id i -9 ar
HH-Teh-1eh IS IAET T q AT Y o= S8 9
2, F4ifs = IR 377 Tl & 9 @ Oy SarEeh
% AT F U HHAIR Bl QAT HAT IS Thar & ?
YA IET B UBT H g ST |

‘It is not the amount of exports, but the
technological content and sophistication of
exports that matters.” Critically examine the
above statement in light of the claim that both
in manufacturing productivity and product
complexity India is far behind global leaders.

S PrfeT =1 oo 8, ot AR < |7 3w
ST <t gorr & sk fafemter &= 3 Seareesar six
ST Y Sifeerr F et O 8, 56 o) B awef &

A2 YU =l ST AT TUEOT Hiford |

3 S L
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7. Discuss the impact of Foreign Direct
- Investments (FDI) and Foreign Portfolio
Investments (FPI) inflows on Indian economy,
List some of the policy options that the
govérnment needs to pursue to boost more
inflows ?

q;_-smmzxawfamwwﬁ&sﬁmﬁ%m (T <t o7E)
- SIR R SRR PR (0% & o) B weEr
| AT I | Y S e Rewedt ) gt T 9RR

fﬁwﬁaﬁwa—ﬁmﬁﬁtaﬁﬁzﬁmaﬁ%m
ewsmsm% ? |

- 8. Analyze the “services led growth hypothesis of
.~ the Indian economy ? Discuss the nature of
-service sector contribution to manufactunng

o R Y ? =T &5 3 R a?nasr%
Tﬁlﬂﬁﬁﬂﬁﬁfﬁﬁ&ﬁwﬁﬁlﬁl

A - 3000
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SECTION A (Ravs )

(a) What are forward rates? Invoke the comparison
principle to derive the formula for a one-year

forward rate. 3)

(b) Consider the following two mutually exclusive

project A and B:

Cash Flows (S)

Project C C €, C,
| e —
A -100 +60 +60 0
i | ]
: +140
| B -100 0 o | 7™ |

: : ch project:
(i) Find the approximate IRR for each P

v choos®
(ii) Which project should the compan>

and why?

8757

3

alculate the NPV of project A, project B

tal investment project
10% and

(iii) C
and the incremen
(B-A) for discount rates of 0%,

20%.

Plot the NPV functions for the three
s in a discount rate- NPV plane.

(iv)
project
(v) Show that the circumstances in which you
would accept the project in (ii) are also
those in which the IRR on the incremental
investment is less than the opportunity cost

(2'2-"'-:":.-.*2-1'-“\
g™ ol - -

of capital.
(F) wed =1 € 7 7w a9g BRAES € D BEA TS
& foy geen R = @m0

(@) Fe=fRes & wer s==r TRaeET A sk B w Soe
T

el HaE (S)
RareET
CQ CI C: C:
A
S —100 +60 +60 0
B
g -100 0 0 Py

(i) ﬂﬁm?ﬁw%f@mmﬁamwﬁ

ET0
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hmwraﬁ‘ﬁq‘“ﬁﬁﬂmﬁfé?ﬁm1ﬁ?eﬁ—a
NPV Wi & wie = | )

;ﬁgq% o o R 3 R (1) <
A T N gl Ry w® IRR T7 =

2. (a) Differentiate between Macaulay duration and

modified duration. (5)

(b) Consider the four bonds having annual payments

as shown in the table below :

End of year | Bond Bond Bond | Bond

payment A B C D

Year 1 100 50 0 0+ 1000
0 0

Year 2 100 = 50

Year 3 100 + 1000 | 50+1000 ] 0+1000 0

8757

The bonds are traded to
(i) Determine the price O

(i1) Determine the duration of ea

(iii)

(iv)

5

produce a 15% yield.

f each bond.

ch bond (not

the modified duration).

Which bond is most sensitive to a change

in yield?

Suppose you owe $2000 at the end of 2
years. Concern about interest rate risk
suggests that a portfolio consisting of the
bonds and the obligation should be
immunized. If V,, Vi, V. and V are the
total values of bonds purchased of types
A, B, C and D, respectively, specify the
necessary constraints to implement the

(10)

immunization?

(=) %aﬁmﬁfwﬁ'ww

%1 XS



6
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L - = ____\:ﬂ—‘___‘_\
K ; g - o
hl I B N
T 1 - :
q¥ 2 100 : —
Ty 3 :
100 + 1000 | 50 + 1000 0+ 1000
0

15% IU X B Ry At w TR B e 2
|

(i)

(i)

(i)

(iv)

yE dS A A P W

T as o sEty Fuia w0 (e safy
)

Suot 3 geerd & o FIT 9 TR G
1

W?ﬂﬁ?ﬁ?aﬂﬂaﬁzaﬁ%ﬁﬁszom
lmatry?rﬁﬂ'%aﬁi’f
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3

(a)

(1)

(if)

7

t+al market line and

Distinguish between capl 5
security market line- (5)

g venture. The price of
$875. It is expected
£ $1000 after one

nty about how

Consider an oil drillin
a share of this venture is
to yield the equivalent O
year but due to high uncertai

much oil is at the drilling site,
n is 40%. Currently the

te of

the standard

deviation of the retur
is 10%. The expected ra
9% and the

risk free rate

n the market portfolio is 17

return 0
s rate 1s 12%.

standard deviation of thi
cted rate of return

Calculate the expe
Also

predicted by capital market line.
comment whether it is efficient to invest in

(3)

this venture.

(b) Individual A is planning to invest in a mutual fund.
This fund invests 10% of its funds at the risk free

rate of 7% and the remaining 90% in a diversified

market portfolio which has an expected rate of
return equal to 15%. The beta of the fund is 0.9.
One share of the mutual fund represents $100 of
asset in the fund. What is the value of the share

based on CAPM?
(5)

P.T.O.



8757 8

= . il mﬁ

(i) v e 3ol I w frem =
TE AW A $875%|Hj;;::i:%
$1000%%W3?¢ﬁ?a?;ﬁ'ﬁawﬂgm;
AT B wme = e 9@ 2, o ¥
I=a afEBuEd & sr, Red &1 a9 R
40% B T H SIREH TET W 10% B |
TR Ao W Rt = sfE ® 17% @
it = o< 1 AEE e 12% ® | IS e
e B ST Reet @ Smifd o T
= g o R X = 5@ o ¥ B

HEAT HIE © |

(=) W*A@mmﬁﬁ%mmﬁa&Maﬂw
3| @F wE 10% W 7%, Y S A
w/ W X AT 90%3%1’%1%‘@13@?%%%"‘9‘%“
aar oA 15%%@1?6#3%@%“%‘

o T W= A

mﬁ{mgﬁﬁﬁ[ﬁm%l CAPM &

$100 =l
iﬁu?a:r{?qﬂ%?

R 9

87 57
GECTION B (@S )
i i ith beta
mpany has 2 20 million portfoho with
O o ke to us€ futures contract on the

of1.2:1 would i '
ge its risk. The 11
t 1080, and each contrac

What is the

dex futures price
t is
is currently standing 2

jvery of $250 times the index.

for del
isk? What should the

hedge that minimizes T
company do if it wants to reduce the beta of the
(5)

portfolio to 0.67

meant by basis risk when the

(b) Explain what is
used for hedging. (5)

futures contracts are

(c) Suppose that you enter into a short futures
contract to sell July silver for $17.20 per ounce.
The size of the contract is 5000 ounces. The initial
margin is $4000, and the maintenance margin is
$3000. i i i

What change in the futures price will lead

to a margin call? What happen if you do not meet
the margin call? (5)

(F) & == ¥ 12 & qa S @ $20 -
AR 2| T I M D m"'é';"m
S&P500 9 9ger S s —

TR |

P.T.O.
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FET Ay ?

(@) = $ifwe % 5
e e B3R @ Ry
SEsin

ﬁmm%ﬁrm\—,ﬁﬁwﬁwm%?

(1) = S 75 o1 gerd Rem $17.20 ¥ st

A

sl & o v ¢ amer smery ¥ Ry wq 2
SII T AR 5000 6 2 | AREF A $4000
2, 3R TEw@E WA $3000 € 1 @@ €= ¥ @
Wﬁaﬁmﬁ?ﬁﬁaﬁm%m?uﬁm;ﬁ?ﬁﬁ
aﬁqﬂyqﬁfmﬁﬁwﬁ’m?

(a) The spot price of silver is $15 per ounce. The

storage costs are $0.24 per ounce per year payable

advance. Assuming that the interest

quarterly in
ties,

rate is 10% per annum for all the maturi
calculate the futures price of silver for delivery
e opportunities

in 9 months. Explain the arbitrag
o the theoretical

when the price is not equal t "

price.

8757
(b) Suppose€ th

(c) Expla

11

at the risk-free interest rate is 10% per

m with the continuous compounding and the

index is 4% per annum.

0, and the futures price

annu
dividend yield on a stock

The index is standing at 40
erable in 4 months is 405. What

(4)

for a contract deliv
arbitrage opportunities does this create?
in carefully the meaning of the terms

convenience yield and cost of carry. What is the

spot price,

(5)

relationship between futures price,

convenience yield and cost of carry?

() =ré o wiie T $15 9 i & 1| ewor ar $0.24
oFr s iy @S Y afm ¥ W 21 qE A T
o o TR @ Rw m ) 10% R a9 2,
o ¥ Ry & fog =& & FwEr qE A A
| AT & I F R Y o Ao AT

T H SR A B |

(@) = TRw fF PR =wwafe & a i - o =
W 10% 9 af B 3R Wi F3F W A A ITA
4% v 9§ 2 | gEEIE 400 W @ B, AR 4’ HEA
¥ faRa ey & fow am@er @ 405 21 T R
HAEIAT & A AaT HA ¢ 7

P.T.0.
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() gl @ sk @
= * \ lmmmuﬁqﬁ? > )
:\'WEF,‘{'l

(b) The price of a non-divide

(c) Suppose that

e [ Eﬁﬂ
HT G B 7 A & G

(a) (i) What is the difference between a strip and
and a

strap?
(3)

(i) Call options on a stock are available with
strike price of $15, $17.5, and $20, and the
expiration dates in 3 months. Their prices are
$4, $2, and $0.5, respectively. Explain how
the option can be used to create a butterfly

- spread. Construct a table showing how profit
varies with stock price for the butterfly

spread. (5)

nd-paying stock is §19
and the price of a 3.month European call option

on the stock with the strike price of $20 is $1.

The risk free rate is 4% per annum. What is the

price of a 3.month European put option with the
3)

strike price of $20?

stock are available

nd $35 cost 54 and
used to

©

put options 01 a
f $30 a

with the strike price 0
n the options be

§7 respectively. How ca
create a bear spread?

@) (i) P o B F o 2

(i) f 9w W e T $15,517.5 3 520 %
wEF T B A I 3, A3 WA A
Ay & TAE 71| IAF wAT FE S84, 52
7 $0.5 ¥ | = H & FEHATE FE T B
forg feer =1 39anT 24 o o1 wFa 27
TEHAE TR & g Wi T B AT AH F
fr= 2rar 2, 9% T9id gY VS difeEl 1 A
ol

(@) - AR A w©r e $19 € AR S20
® EES I D 99 RiH R 3 TN & [Waas s
fFer 0t S $1 2 | R Ao W 4% U 99 2
$20 % E5E T @ 919 3 WE B TANGT IT ST
F TR R 7

() = AR o Rl =i w Resw $30 3k $35 =

%WW%WW: $4 3R $7 ST B | IR
R F ? foe el & swad 92 B o v
A

P.T.G
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SECTION C (w®vs w)

7. (a) Explain with the help of an illustration how
dividends are paid. (4)

(b) Explain, with an example, the Miller and
Modigliani’s proposition of irrelevance of dividend
policy. Clearly outline the underlying assumptions

of the proposition. (6)

(c¢) ‘Debt-equity proportion does not affect the
currency-risk borne by equity holders but it

increases the spread of percentage return.’ Explain.

(5)
ﬁﬁ)1ﬁﬁzmm?naﬁ?ﬁHiTamaraﬁﬁrﬁmnﬂaﬂaﬁmm
2% frar o 2 7
() o JeEl & A, AR SR AR @ ann A
aﬁamWﬁﬁmﬂé%aﬁifamanaﬁt?ﬂzﬁﬁirmﬁa
G aﬁﬁﬁ%avmaamﬂiﬁ'ﬁﬁﬁfﬁmtﬁﬁ'

() “W—gﬁaﬁmsﬁﬂﬁwﬁmwﬁﬁ

15

8757

8.

i i iti i e to
(a) Discuss the traditionalist position 11 respons

Miller-Modigliani’s proposition on debt policy.

(6)

(b) The common stock and debt of NS Limited are

valued at § 50 million and $ 30 million, respectively.
Investors currently require 2 16% return on the
common stock and an 8% return on the debt. If
NS Limited issues an additional $ 10 million of
common stock and uses this money to retire debt,
what happens to the expected return on the stock?
Assume that the change in capital structure does

not affect the risk of the debt and that there are
no taxes. (5)

(c) Explain the following :
(i) Law of conservation of value

(i) Weighted average cost of capital (2+2)

() Frer-ARFEm @ =0 9f « B e
TR Rufy w == =y,
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(e)

Q)

The marks of each question are Wwritten
alongside the questions.

Erswemeq‘asaa%mqﬁaaﬁmw%l

The use of non-programmable calculators
1S permitted.

TS Sgie A B ) oy
“A fall in the infant mortality rate will bring
down the fertility rate in a society.” Discuss.
7
“Th THST F Y] gy =X F FRmee s o @y
HH HT I " = =T B3|
Suppose that Rakesh and Sheela are the
heads of a nuclear family, making their
fertility decisions. For simplicity, assume
away gender bias and issues of child survival.
The following table details the costs and
benefits (in rupees) of different numbers of
children. : .

SIS 9T @Y 9fier weh AT IRa %
%%, ﬁ@wﬁﬁgﬁéﬁ%m%
fetw, SifiTes gate ofit == & Aiad & Ja W
& | Freferiag a3 Rfsm aedi @ am

5 epr ferarCoT faam A ©
ST @ (394 H) H

8906

Three 840 100
NIk}

Four 890 100
=T

Five 930 100
ar

Six 950 100
!

Seven 960 100
qra

Eight 960 100
ATS

Number of Total Benefits :;:;;;n:;f;rﬂ
Chilfiren . BN (;I;;T 2
a(i S 500 100
o 750 100
2 :
Tg 2

(i)

(i)

Based on the information in the table, how many children

would Rakesh and Sheela have in order to maximize their
net benefit ? 2

Now consider another identical nuclear
family with Mohan and Rita as the heads.
Rakesh and Mohan are brothers and the two
couples form a joint family. Both couples
have exactly the same costs and benefits of
having children as in the table. Now
that 50% of the cost of upbri
child can be passed on to the o
Each couple’s decision is inde
other couple, and is based o
welfare. Now how many chil
couple have ?

3
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(iii) Does the fertility choice differ in the above
cases ? Explain. 3
AT IYTH HHAT F IAAT B G HATT- AT
BT 5 ? THT |

. . Briefly discuss the Harris-Todaro model of rural-
urban migration and explain any one policy that

moves an economy towards an efficient labour
allocation. 15
darg F rer-ered sare # eRa-areel "ee 9%
ot ¥ 2717 [SET U i FI AT H Al U HIA
2 g e 2 oTT U oTefeaeT i T Bl
2| '

of information asymmetry

between lenders and potential borrowers in
the informal rural credit market, only tcl;‘?;
‘safe’ borrowers may drop out of the credl

ket if interest rates are too high. Exp].aur61

(a) In the presence

mar

your answer.
4

8906

STEqEE T FEOT AT § SeTErarst 3T
e STttt & e e SRR @ A
¥, P =T a¥ Fgd e € At Haw G
SeTEdT FEoT TR A are] e dehd € | ST
ITC T |

Show diagrammatically, that in casual labour
markets, both workers and employers are
at a disadvantage — the former due to low

- nutritional status and the latter due to hiring

of low productivity labour. 9
ARG B ¥ 3@, 6 eqrehiaaes 2| arsii o,
<1 e AR FERe T THa 7 ¥--H9 grger
TaT Rl 6 =T g ofiX e Scqrechar At
=+ FYRH & BT I |

Show that.in an economy with extensive
possibilities for perfect crop insurance, fixed
rent tenancy must be dominant, irrespective

of whether the potential tenants are rigk-
averse or risk-neutral.
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b .
(b) The following table gives default risks for

'\Ifna.:rilésti lgin sizes in an informal rura] credit

e ma.rk p_poseothat the rate of interest in

= et is 1{3 /o per year, and that in the

1:‘EP:‘rTnal sector (with no default) 10% per year,

i3 q;m T (Swiee ) e s/ Bt
ST o5 5 = &

S T AT H =411 &1 ofd af 18%
Loai:jqafﬁ?ﬁ 3 (STET B < ) 10% SR aq%:,l
Loans defaulted
FHOT IATHIY T T
) e
50-99 5
100-149 10
150-199 20
200-249 25
250-300 - 30
>300 - 50

(1) Calculate the maximum loan size that will
be offered in the informal rural credit

market.
SyEqEnRes AT O A A ST ST 3
SfereRe T ST gt IO FHITT |
4 inimum rate of interest will loans
(i1) P;;)f; ;::; h; t;g;)_goo category be offered ? 6
i

250-300zaaavﬁﬁwamaﬁﬁwﬁw
|

5. What is t

8906

he rationale of environmer.ltal
regulation ? Why do prescript%ve regulatlf)éls
dominate environmental regulations worlcoim £;
even though economic incentives are conmderel(;
preferable ?

agfercer Rraee 1 @b FA E P Rrgeemdt qataCeT
ﬁﬁwsm%ﬁﬁmwﬁmm%, o
8 aTefes sheareHl @l e HJ Al g ?

6. (a) Provide one explanation of interest rate

determination in rural credit markets when
the default probability is independent of the
amount to be repaid. Further, discuss the
factors which are likely to affect the

repayment probability of a loan extended in
a rural credit market. 9

TTHTOT 0T STSTRT H SATST &1 (W1STXOT &l Ueh SHTEAT
e Y 79 I (fEhice) e FIehrs ST aril
TR A A Bl & | 3HD SAET, IF HILEh 9T
==l L Sfl AT o7 IR Reanfa ot a6t
YT WHTET 2 T T Th |

Explain how, among the poor, inequalities

in the a.sset market magnify into labour
market inequalities.

(b)

PTO.
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7 How did the tremors of fault lines work i the
US financial sector to nearly destroy it ip the
year 2007 ? Suggest reforms in the US ﬁnaﬁciaj
system which might minimize the detrimenty)
effects of a crisis in future, on the world economy ?

S, T
2007 # AR i & § ol el B seat 3
T AT T HA B Raw B HE B 2 g, .
foire oTell ® YUt F gana & o 9oy ¥ figg
STAHATEAT U The o BI+Th1LH THIT BT FHH HT THaT

g 7P

8. Discuss the processes through which global
economic integration affects the condition of the
poor in developing countries. What measures

- could help the poor ? | 15

3 UEhITeT & IR ° 9 Y, e areH O 3fyas
aTfeler Tenleh T, Taeprasiiar aen | Tal &I fRafa &
TTd BT & | SFIT S9TH Tl Pl Hag HT Tohd & ?

8 | 3000
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femqult 59 geA-TF 1 SW S AT Gl fREt TR A
i Afsg; AfFT Tt S w1 A T E A
aMeu |
| Attempt five questions in all.
Simple calculator is allowed.
FHA WH T B SN AT
HHROT HEHASR F TAT FOHHA T
L (a) What are the chaﬁges in the banking system deposits,

currency holdings and the money stock for an open

market sale of 10 crore rupees ?

P.TO.



Given that : "
()  Required reserves ratio = 10%

(i) Desired excess reserves ratio = 59,

(iif) Desired currency to depos}t ratio = 259, 9

(b)

W g
hat are the many ways in which options differ from

a future contract ?
6

gell SR foassa v s 2

fem m o®

©)

(@)
() STEwTEe FEd I = 10%

Gy ifoa sfafE STdEE ST = 5%
i) AfSA HE S SN = 25%

(b) ﬁqﬁwaﬁaﬁﬁﬁm,m-waﬁ
fiyTg < T 2

© bonds to three Year

(@) Suppose investors prefer one yea

if the
bonds and will purchase @ three year bond only if they

r the returm

it ve
expect to receive an additional 2 per cent ©

y one year bonds

from holding one year ponds. Currentl

(3 ) 8970

yield 4 percent, but ‘vestors expect this yield to rise

to 5 percent next year and to 6 percent year after.

() Which of the three models of term structure IS

relevant in this case 9

(i) 1s the yield curve upward sloping, flat or

downward sloping ?
(iii) What is the yield on a three-year bond ? 6

What is the principal-agent problem in equity

contracts ? How can it be solved ? 9

i R feE T oA & e A

T8 % de ® gad # 9Eg I ©§ SR dF

T F W= AN Fw T T T o

® dFs ¥ WW HG B ST 2 U

A 9 T R AT B oodHH ¥ uw o

W4maﬁhm%’%ﬁ%¥lﬁaﬁ

wﬁ%%%mwﬁwsmw

@Rmaﬂéw6mw%ﬁt

O T TN o wrest
Wﬁmﬁﬁﬁ@m‘ww

PTO.
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W T ST Th IR W W, W q g

F WE TAH A R 9
Gip) T = F wT W o s ¥

by R oEw # fifgvewe wwen s b
T %Y ' fewm w1 owwa ¥ 2

(a) Differentiate between exogenous and endogenous money

supply curves. 8

(b)  Explain the ways in which banks have developed several

1 er
mechanisms 1O overcome default risks and oth

- formation asymmetries. 7
(a) aﬁﬁamﬁwﬁaﬁﬁﬁm

HifsTe | |

<7 e e o forrd " %i:
(b) T

(@)

)

(@)

(b)

£ 3 4 ' 8970

Discuss the efficiency of the following instruments as

intermediate targets to achieve the objectives of
Monetary policy :
() Interest rate
(i) Money supply. : L

Graphically explain why an investor who purchases a

callable bond requires a call premium. 7

e iy & S2dl # I wH & fAw geEd

e ¥ a ] e

Heg & ®9 § frefafeaa Iuson &t <

W E Gl BT

(H =N I
(i HH 'ﬂ%h

MR T ¥ wERT R ouw frave st
I e Tled ¥ 3@ FT @i a5
AEFIFHA F e T2

P.T.O.



(@)

(b)

(@)

®)

(a)

(b)

( 6 ) -
0

g

money supply in the Indian economy

@) RiISB in C/DD ratio (c)

(7)) Rise in TD/DD ratio (t)

(iif) Rise in non-borrowed reserves (H")

(v) Rise in excess reserves holdings of banks (ER). 8

How is Basel 111 an improvement over Basel Il 9 7

RA stdfereen & W gff W Frefafen =@
F yuE == SR -

() W/EE sgum A afs ©

Gy SEVEE egam A FfE

Gin -sar e #7 afs HO

(iv) i shafed fod dfee™ ¥ is (ER)
e § dwern # geEa G 30T 7
hesis ?

i hypot
Explain the rationale for the expectations nYP

€ r 8
e th 9
] (Nesses -
What are t theo )"'S major weakn
Briefl vernn‘lf:rlt
reform in the Go
. 1 the eforms undenaken n
riefly discuss

i dia.
securities market 1N In

(@

(b)

(a)

()

(@)

(®)

« 7)) 8970

smien Ufehea T & fau 9%l #) onen wifu)
g faga ®t W@ wESIE dm § 2
gy H g whayfa SR # fey ToogeR
w® gy 7 == FwifEw

What is meant by asset securitization 2 In what way

can asset securitization reduce the cost of funds for

an issuer ? 8

Jan Tinbergen claimed that it is not merely the number
of instruments that are important but the number of

instruments exerting independent effects on the target

variables. Elucidate. 7

ot Al § v = e ¥ 7 ufigefy
e = fhE yER Siwdl ® fou em
® A H FHA T GHA T 2

mﬁﬂmh%wmﬁﬁ%'%aamwuﬁ
F e T ¥ S weeyd ¥ A e
aﬁmwﬁﬁwm@aﬁmﬁwm}m
T me Fifm

PIs



Write short notes on any two of following
+S+3S
()  Public determinants of money supply

(i)  Primary/Direct securities in India

(i) Liquidity premium.

Frofafem # & el @ w W fremh o
0 T % e fei

8970

() WA § wiafaEw/ gy gl
(i) LA T |
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